V30 Hi i A R O RE HEHN & [7]— i Tdo 2 H T

1) ) 3) (4) (5) 6) (7 ®) 9) (10) (11)
FEYEME S [ JEUEH O FTAE R O ONC JEUERN( L) | JRvERN [FLvE o | JL e R LM O JED O+ | FEAER OBz (eI [FEvE o | JEUERN TR D
() |FEFR FEERI(T) | D HOEE [k HAoHm  (HoFIHORR  |[EEROWRK  [20\WCo [#hEZ0 |#iEHEEE
A H 2 DOUFSHA | (nd) AR, Ao LE Ok I
CF) — L 7 ARG (7250 | S<HIBR
Ulokiie:3 BLOVE (R0 |ERb0
(M) KEDFE SRR
ok
VAl AT 40,000 274 [EEES HHEE— RO 4m|/KiE R 2R
— 19| 2183%5 1:1.5 2P BERAE (rfri HA ( 60, 200)
40,000 ) EHK Tk 900m o
- 4
VAl AT 105,000 489 [EEES KB EEOZ |5 9m /K& VAl 2=
— 27| (R HHT 84275 24 1:1.5 PR BE R o HA ( 60, 200)
[R5 —5) 105,000 w2 1 Tk 1.7km E
— 18
AR Akt 116,000{ 536 FHH | E O g E 27m (/K A IHES
5— 3[RETLT H26%4 1:1.5 BEPTE L AR D L i 5 H A ( 80, 600)
[HHT1—2—1) 116,000 SSFIB | SR M E| T L3km|Bik
5— 4
VAl AT 57,600 212 JERARCESE | WG &, S T, SR v 18m|/kiE G Pliniii)
5— 6|#ER1T H1983%2 1.5:1 TS BHRAET D3 1 97 A ( 80, 300)
57,700 S3 Wl 2 Tk 270m|HERs
5— 1
Fz F Sz 49,800[ 194 *HE MEEE, 75—l L2m(AGE  |HEEZE| 2flE
— 5[BYIAT2T H104% 1:3 by MR DSRAET D | it HA (60, 200)
[B)IHT2—25—2) 49,800 W2 1252 itk Tk 1km
- 14
Az CNaH 70,200 156 SRS | B O RE L Fr | e 36m|7KiE H Sz I5ES
5— 2|BENT1T H 1967 1:2.5 | BPTE RO IS 5k HA ( 80, 400)
THEHT1—1—13) 70,400 RC3 (e Tk 850m |k
5— 1
R0 e ::Ai ) 47,800 246 [EES MR ST AL 10m|7kiE R 2=
— 20 :‘:EHEHT1280§18 1:1 %E/ﬁﬁ#é&fﬂz Fﬁﬁ 73?( < 60, 200)
[Fadmr2—15) 47,300 W2 (Eect:liti Tk 1.5km
-9
i i 60,400 212 POHEFTRLE [ F B ET, IEEE VIR 14.3m|KGE B iji [HES
5— A|BET3T H3309%2 13 |%E DR I 5P JrE H A ( 80, 600)
[AET3—1—3) 60,400 S4 1 Tk 400m | R
5— 2
iRy LGN 45,300 331 [EEES FESENRLND|HE 6m|/KiE iRy BRI
— 1| B0 RF—T H2657%2 1:1.5 I M R & L7 ( 50, 100)
45,300 ) EHK Tk 2.7km
— 18
R RN 75,100 645 I e T P B [T 18m|/kiE R HES
5— 3|ANr1T H5603%24k 1:1.5 U5 B TR DR | it ( 80, 400)
[AHT1—3—9) 75,100 SRC3F1B |FHik i | F A 300m | #Ep)y
5— 1
il ESokiE 21,100 231|BE  |EE HRAEL O IZH |/ 5.9m| /Kl il 1R
— 2|5 T B 792136 1:1.5 BT DNRAE T D 1iiiE ( 60, 200)
Mffh5—3—6) 21,200 W2 (Eect:liti Tk 1.2km
— 11
] Al 42,700 563| NI | Ik EDEIRVICIEEYE AL 14.4m(KiE il S
5— 1|HAMST H2926%1 1.2:1 DIE T2 B P | i (60, 200)
[ A5 —7— 3] 42,800 LSl Ht M | K 1.3km
5— 3
B WA B IR 63,100 239 [EES RETENEDL| 6m| /K P 2
- 1|{{EE4T HB8ET 1:1.5 Al 52 DX EEESR D 3 HA ( 60, 200)
63,100 S2 (Eect:liti Tk 650m
- 6
HEA WA FES IR T 19,300 58199 T4 KRBTS0 5 (b5 16m|7kiE IR} TR
9— 1|EE3T HAEL 1:15 ﬁﬁﬁfﬁﬁfd‘?kb iE A ( 60, 200)
18,900 (SR bl W HHE | Tk 8.7km
9— 1
R ke 29,200 209 [EES HHEE— D[R 6m /K& K K HE
— 2|k L R\ P47 2274 1.2:1 ANk 2ol ) H A ( 50, 100)
29,600 ) TAE R Tk 800m
- 3
R AT 40,600 962 25 4 P ENCE LA L 25m|/KiE AKHEE A
5—  1|KiMiEE HEENT 54 5 28837 144 1.2:1 2V EEIR OO [k ( 60, 200)
40,900 R MR Tk 400m




1) ) 3) (4) (5) 6) (7 ®) 9) (10) (11)
FEVERIE S [JEUEH O TR K ORI NS JEUERN (L) | JRvERN [FLvE oo | L e R [JFLHEM O JE O+ | FEAER OBz (eI [FEvE o | JEUER TR D
() |FEFR FEERI(T) | MRS [0k HAoHm  (HoFIHORR  |[EEROWRK (20T [#hEZ0 |#8iEEEE
Y 2 DA | (nd) K, A | o FEBE | Ofhik IS
CF) —PL 7 AN |Ferc it [S<HIBRC R
Ulokiie:3 BLOVE (R0 |ERb0
() AKEDFE SRR
OB
HER (TN 28,200 304 [EEES RETENEDL | 6m|/KiE WREAH 1HE
— 2K RT3843%2 1:1.5 Al 5= DR S U v ( 60, 200)
28,400 ) TAE R Tk 700m
)
AR AR 23,800 198 [EES AL DD |y 6m| /K AR &) 1EE
— 1|#WHEr2T A 35% 24t 1:1 Al 5 DT S U vt ( 60, 200)
24,100 ) TAE R Tk 600m
- 3
At AR T 33,500 818 I AT T G D B 3 | b 17m| /K& A (#B)  2(FfE
5—  1{RK9%ES 1.5:1 SHTBO B (i HA ( 60, 200)
33,700 sl Ht Tk 2.4km
5— 1
mF SR 50,200 231 [EEES RO — |1t 6m|/KiE FEH 1R
— 1|FEE3 T H14%19 1:1.5 OEANELE Sl L] HA ( 60, 200)
[F#H3—14—28) 50,300 ) Lo e itk Tk 1.2km E
— 14
mF i EEH 74,100 161| B [EES H NS D — i | 4m|/KiE BF 2R
— 4|AE1ITH702%7 1:1.5 TR L5 it HA ( 60, 200)
[&fE51—7—22] 74,400 LS2 B DTk Tk 700m
— 12
oE OE 111,000 187 [EEES LT =k 6m /K& oE 2R
— 8|&HA2T H15%5 1:2 POIRMNZEHIL D | i T A ( 60, 200)
111,000 w2 1 5 Mtk Tk 1.2km T
- 3
OUE oE 23,300 276|H T fEE LB AN ERAE | 7Y 6.5m|/kiE HZEYD | 1EH
— 12| BEFE40322 35 1.2:1 U ISIAES DI (v ( 40, 80)
23,400 ) EHK Tk 2.4km
- 4
< SF 164,000{ 1114 SR AR | /N T2 RSB DIE T R 16m|7KiE UE AT
5—  5|HUBIH24% 3414 11 [T B P DL DAL i HA ( 60, 200)
163,000 S3 DR Tk 700m o
5— 4
OT=blehy OBt 47,200 186 [EES HRE— e o v 6m|/KiE ¥ F 2R
— T[EKEAT H4%E 251 1:1.5 PR DB IR S U (v ( 60, 200)
THAB4A—4—2) 47,200 ) TAE R Tk 1.3km
— 12
OT=blehy OBt 54,500 511 T JEEE . FHAT. KL 33m| /K& ¥ F Pliniii)
5— 2|fEEFET3T H2%19 1:1.5 SRS DR R B |17 ( 80, 200)
[FEBFHT 3 — 2 —5) 54,600 RC4 R MR Tk 2km
5— 2
JEE S JENE 25,500 616 SRAT /NGRS, E T L 12m|7kiE FERFRE | PHE
5— 11T H2219%24h 1:3.5 SIS il ( 80, 400)
[ fi1—9—30] 25,500 RC2 s Tk 730m
5— 1
SFA SEAT 105,000 165 [EES HOFE— e 23 e 6m|/KiE S K HE
- 1|FoEH5T HIZET 1:1.5 S0 5 PR 1 HA ( 40, 80)
105,000 w2 O E Tk 1km
- 8
£ ARE T 26,600 276 [EES B ER S [ 6m|/KiE TER K HE
— B|EATAN1941E49 1:1.5 SRR LT fiE HA ( 50, 100)
26,600 W2 SyrEfEE g Tk 1km
- 4
HE BT 31,600 244 [EES R — 3 A 6m| /K T BRI
- 2|EATRIE1768% 1:1.2 SNk 2ol ) ( 60, 200)
31,600 ) TAE R Tk 1.3km
- 5
2N st 45,800[ 115 T HUEJE O JE L | v 17m|AKE T IHES
5— 2| FHAII2.954% 1:2.5 BT D 5 it ( 80, 400)
46,000 S3 (e Tk 300m| &L
5— 1
Lo Tt 11,500 325|H fEE AT OHIZZE | BTG 5.5m|7KiE TEAT BRI
— 1R TFUAIF3332%7 1:1.5 M RO il ( 40, 80)
11,600 ) EHK Tk 14km
!
Faiei Ui 21,600 264 [EES HOFE— e 23 e 10m| A& NG 1
— 4|2 T B 1219%157 1:1.5 B S PR T i ( 60, 200)
Mfiffiz—14—24) 21,600 ) EHuK M | A 8km




1) ) 3) (4) (5) 6) (7 ®) 9) (10) (11)
TR [ JEUEH O FTAE R O ONC JEUERN (L) | JRvERN [FLvE oo | L e R [JFLHEM O JE O+ | FEAER OBz (eI [FEvE o | JEUER TR D
() |FEFR FEERI(T) | MRS [0k HAoHm  (HoFIHORR  |[EEROWRK (20T [#hEZ0 |#8iEEEE
3R DLFEFHA | (nf) AGE, A Moo E | OB I
o L AN |7t [-S<HRCE
Ulokiie:3 BLOVE (R0 |ERb0
() AKEDFE SRR
i DRI
Kk BRIEAR I HERT 28,700 250 EE WREEOIENZE| AT 6m|7KiE Kk VK
— 23924 1:2 % & 2 KT PRy ( 50, 100)
28,800 w2 O E Tk 380m
-1
ECH e AR LA 34,800 32366|HTE B S [ RHUE T3 B e 16m| /K& EEZH T
9— 2| RFIEIEETBIE F4035E84 11 |AT SO S T 0yiE A (60, 200)
33,300 S2 ik Je# fE 1.5km
9— 1
7 i I AREE AT 25,900 221 £ SJEEEOHIZZE( 4.5m|7k3E HREW| 1R
— 1|/ [2189%45 1:1.2 S A3 55 B 8 3 2B [ 60, 200)
25,900 ) EHb Tk 14km
- 3




